TALEEMI DUNYA

Test Syllabus: Unit # 5 (Factorization)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle

in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
Find m so that 9a°-12ab+m is complete square: K s 0 pope IS €9a%-12ab+m 8 Scwd SM | -1
ab* D) 4p? ©) 16b?2 (;3 -16b* (A)
Whr;lt will be added to complete the square of € 8 S e WS e ol IS il e JdS SOX%2xy | 5
9x“-2xy?
8a’ | (D) | -8a° ©) | 16a° | B) | 43° (A)
Factors of x*-11x-42is............: e (3 a3 SXP-11x-42 | 3
(x+14)(x-3) | (D) | (x-14)(x+3) © | (x14)x3) [®B) [ (x+14)(x+3) (A)
Factorize of a®-4b?; onoilnl _<a%4b? | 4
(a-2b)’ | D) | (a-2b)(a+2b) C) [ (at+2b)(a+2b) [ (B) | (a-b)(a+b) (A)
If (x+2) is factor of P(x) =x*+2kx+8 then find k. S P +2§fuﬁ N
-4 (D) 4 (C) -3 (B) 3 (A)
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Factorize of 27x’ —L% are O et 2 ) 3 S 27 7 _L% 6
X X
1Y s 1 Yo q, !

(3x+lj(9xz _3%] o) (3x_1j(9x2 _3%) © (3j(9 3] ® | (Lo t] |

X X X X )
Which is possible factor of 2x>+x*-2x-1=? § S s s 0S o ) A 26C3HX5-2x-1 [ T
Both C& B | (D) | (x-1) © | (2x+1) | B) | (2x-1) (A)
(3+y) (x-a) are prime factors of: 0h e Slalade S S(3+y)(x—a) | -8
3x-3a-xy-ay | D) | 3x+3a-xy-ay © | 3x+3a-xy-ay-3y | B) | 3x-3a+xy-ay (A)

Ailisd) A

2. Answer the following Question:

(2x7= 14) : —i¢5d Sl g aiin S Y] g i 722

(i) Factorize : 3x — 243 x° 3X — 243 x-S (5 5 (i)
(ii) | Define Zero of a Polynomial. S G (S g ) S e B S| ()

1 (iii)
(i) 27y° 27y° b
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(iv) | Factorize: x> —11x—42

x> —11x—42- S s | (iv)

(v) Define factor theorem.

S el S il | (V)

(vi) | Factorize: a* —4b*

a® —4b* . S s | (Vi)

(vii) | Factorize: 144a* +24a +1

1444 +24a+1- S a5 | (vid)
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Note: Attempt the question in detail.

(4+4= 8) - =g @l Ll S J) g Jud 7 0 1058

2
Q:3 (a) : Factorize: (Sx—lJ + 4(5x—lj+ 4. x#0
X X

S G () 3 el

1Y’ 1
Sx——| +4{5x—— |+4,x#0
X X

(b) Factorize are the cubic polynomials by factor
theorem. x° —2x° —x+2

S e (B IS (2 0 O g0 3 2 (S 5 Al (@)
X —=2X7 — x4 2 S s s
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